Algebra Problem Solving
Equations Involving Consecutive Integers (part 1)
Name: _________________________________
Date: ______________
Period: _______
You can set up equations to solve problems about consecutive integers. Here is an example:
Find three consecutive integers whose sum is 48.


Let x = the smallest integer.



Let x + 1 = the next integer.



Let x + 2 = the largest integer.


Here is the equation:



x + (x + 1) + (x + 2) = 48





3x + 3 = 48





     - 3     -3




      3x = 45
3 3

 x = 15




   x + 1 = 16





   x + 2 = 17


Check: 15 + 16 + 17 = 48

The three consecutive integers are 15, 16, & 17.  

You can solve problems about consecutive even or odd integers by using the values 

x, x + 2, x + 4, etc.
Define a variable. Write an equation and solve. Show all steps.

1) Find two consecutive integers whose sum is 211.
2) Find four consecutive integers whose sum is 366.

3) Find two consecutive odd integers whose sum is 68.

4) Find four consecutive even integers whose sum is 188.

5) Find five consecutive integers whose sum is 395.

Algebra Problem Solving

Equations Involving Consecutive Integers (part 2)
Name: _________________________________
Date: ______________
Period: _______
Define a variable. Write an equation and solve. Show all steps.

1) Find two consecutive integers whose sum is 45. 
2) Find two consecutive integers whose sum is -29.

3) Find three consecutive integers whose sum is 48.

4) Find three consecutive integers whose sum is -147.

5) Find two consecutive even integers whose sum is 66.

6) Find three consecutive even integers whose sum is 72.

7) Find two consecutive odd integers whose sum is -88.

8) Find four consecutive odd integers whose sum is 56.

9) Find two consecutive even integers such that the sum of the larger and twice the smaller is 62.

10) Find three consecutive even integers such that the sum of the smallest and the largest is 36.

11) Find three consecutive odd integers such that the sum of the smallest and 4 times the largest is 61.

12) Find three consecutive integers such that the sum of twice the smallest and 3 times the largest is 126.
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